UPPSC

Uttar Pradesh Public Service Commis

Download
UPPCS/UPPSC
Prelims Exam
Question Paper
2023

Subject: General Studies I
Booklet Series: C

“Exam Date: 14™ May 2023”



i
E LNy

5 9 TF A 78 gdemr gRaar @i 3t 7 B @Y 04 a6 T Q|
2023 B : JULIET-1 - 23

s | P AR - %

|HY © 2 9C gt 200
AT AHHD HHA A D Sl [ l Uial | |

—_—— e —————— - - - —
I ford y&@l |

UF @ SR @ fod a9 P dAa-@ige T @ FaAr |
sl STR-TF W IR 3 W TS Wl IRl B W 7
I S T IR A IRAS W A & | her & S0 SR-ww @1 g A Foww o

Hewd " j 31‘_1_‘)'3'

. wf uwl @ o 2| o el @ 3 G B - W S
) SRS W ] AT W S, AW, T W el Pl T3 AT e Y S A A
e 7 R e SR SE R s s @ E | | - */
3. mmgﬁaﬂﬁmmmmmaﬁfﬁ(ﬂwwwamﬁvﬁ? X o ﬁ’(

Wﬁﬂﬁﬁ?%lﬁmwﬁmﬂﬁmmﬁeﬁﬁmﬁ%w—mﬁazm ER AT \1\
dfa-dige ¥ | T Fral X < | U N\
4. Wa%mmwaﬁwﬂﬁwgﬁa%ﬁlwmﬁmuﬁmwf $ ¥ 3
21 gwi &1 WA R A\ e e
5. mﬁmﬁﬂmﬂda%ﬁmﬁgﬁﬁﬁlm(ﬁ:-'mm.w. i FEea $ A
#, SUel AR w1 ‘ L
6. wﬂmgﬁaﬂa&aﬁ$mmaﬁméﬁé&qﬁmgﬁﬁw$wﬁwtm‘rm*a.m;_.: 12 qdeT
Wﬁﬁiﬁﬂ.mﬁﬁmﬁﬁmﬁ?mﬁmamaﬁ{ﬂﬁwﬂmgﬁ*\-mmw;f-,1
7. Toa I @ fog T
Sae—ua® 4 Iiar g Ry g e gt @ fag avs Ran | |
(1) uﬂ\ﬁmaﬂ%{qaﬁwqﬁ?tlaﬂﬂmmmmaﬂhméqnqrzmrmamm?f?mmm
@WWWWW%M%zﬁmMW«Wl o
(i) uﬁﬁ?ﬂmwﬁaﬁﬁw&m&m's'ﬁ:raﬁmm:ﬂun\nn_mﬂﬁﬁmfm;maqnqq;
Wﬂﬁﬁﬂl?,ﬁﬂﬁﬂﬂﬂﬁ*ﬁﬂmﬁm@ﬂﬁeﬁmaﬂmﬁmm;
(iii)uﬁeﬁzmamﬁémaaqﬁﬁmmémﬁwﬂmmwaﬁﬁmmémwm
& forg Y qus éY faan W

o T ST 5 0 R S 3 7 E A T T A el |

Note: English version of the instructions is printed on the back cover of this Booklet.

TEeT T Page 10132 LUV

Downloaded From: https://dhyeyaias.com




According to the Union Budget 2023-24, how
many skill India international centres are to be
set up across different states to skill youth for
international opportunities?

(a) 50 (b) 40

(c) 20 (d) 30

Who among the following has authored the book

“Spare”?

(@) King Charles (b) Prince Harry

(€) Prince Phillip (d) Prince Williams

What do we call balancing the need to use

resources and also conserve them for the future?

(a) Reducing (b) Future resources

consumption

(c) Resource (d) Sustainable

conservation development

Given below are two statements, one is labelled

as Assertion (A) and other as Reason (R) —

Assertion (A) — The President is a part of the

Parliament.

Reason (R) — A bill passed by the two Houses of
the Parliament cannot become a
law without the assent of the
President.

Select the correct answer using the code given
below -

(a) (A) is true but (R) is false
(b) Both (A) and (R) are true but (R) is not correct
explanation of (A)

(c) (A)is false but (R) is true

(d) Both (A) and (R) are true and (R) is correct
explanation of (A)

‘Milind Panho’ is in the form of a dialogue

between King Milind and Buddhist Saint. The
concerned saint was -

(a) Nagarjun
(€) Kumaril Bhatt

(b) Nagasena
(d) Nagbhatt
Which of the following statement is true?

(@) Ocean salinity is maximum at the Tropic of
Cancer and Capricorn.

(b) Tide comes on the earth every day after
exactly 12 hours 30 minutes.

(c) Benguela current is a cold current of the
pacific ocean.

(d) If the sun, the earth and the moon are in 3
straight line then this situation is the situation
of small tide.
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10.

1.

With reference to the “
following statement/s is
(1) El - Nino involve
current of the coast
(2) This warm current ;
of water on the per

by increasing the a
sea.

EL-NINO”, which of the
/are correct?

S appearance of warm
of Peru in eastern pacific.
nc.rease the temperature
uvian coast by 10°C there
mount of Plankton in the

Select the correct answer using the code

ven
below — &

Code -
(@) Only 1 (b) Both 1 and 2
(€) Only 2 (d) Neither 1 nor 2

Who among the following women freedom
fighter was not associated with ‘Quit India
Movement'?

(@) Matangini Hazra (b) Kanak Lata Barua

(¢) Aruna Asaf Ali (d) Shanti Ghosh
‘Mount Newman’ is famous for which of the
following minerals?

(@) Copper (b) Bauxite

(©) Iron ore (d) Manganese

On 25" December, 2022, which of the following
countries extended mandatory Military Services
for one year to those males who were born after
01 January, 20057

(@) Myanmar (b) Afghanistan

(¢) Sri Lanka (d) Taiwan

Consider the following statements concerning

the powers of the Supreme Court to issue certain

writs to stop violation of Fundamental Rights —

(1) The Supreme Court has power to issue writs
like Habeas Corpus, Mandamus, Prohibition,
Quo Warranto and Certiorari which s
appropriate for the enforcement of
Fundamental Rights.

(2) Parliament may by law empower any other
court to exercise within its jurisdiction the
powers given to Supreme Court.

Which of the above

statement/statements is/are correct?

select the correct answer from the code given

mentioned

below -

Code -

(a) Neither 1 nor 2 (b) Only 1

(c) Only 2 (d) Both 1 and 2

7

10.

11.

we-AAr B Wt o Frefafag weol A 9

& | /A HE R/ E?

(1) A= 4 gdf g &3 # 9% @ dC W
T Il @1 g@e e i £

(2) 9% T8 gET 9% @& de U gl @ agHH &1
10°C a® a1 = & fores wyg # <i®eA

) HIAT g AT 2
'1]'1 i’f'f Mg e A /Y A9 ,{1‘.‘;"
t}“n"
(a) a4 1 (b, 7141 1 U4 2
(C) Had 2 d)aa1a2
f'TI"{1'."{f""l'1 0 &4 o e i eI IEG!
B8l AT A Hatya a8 2
(a) #yrafa= zraa- by EHE T TEH
(C) FAFUN HTHE H d) X oy
‘HIIUE ,—q:q;[ frafafga 8 € = afa= & oo
yfag &7
(a) H‘]’gﬁ Ey 7927
(c) oire 3ravd d) &3
25 forwmR, 2022 71, Friem = @ BE I
gRT 1 9HdY, 2005 @ @72 3= #7 579 % famo
T 98 @ Afe o sFEE = 2 g
(a) =R b). FFTIAET
(c) 2wt (d) arga
ﬁ Gailq AT d @l A ‘j-- a \,"": 11 & g
AFA Eﬁ ﬁ-TQ REGRI s S I9F & Had A

gl ®q fev v 87

(1) S=Idq WISy &) I v U € 1P 98
CARR R SIE Sl qeTee gfaey IR -

A A @ fae wyfaa 8 9w Re &1 wam
B g ¥
(2) W & ANBR & 6 I8 ST a7 I B
AN Iy B AT REiRE  wEE
Al @ iR Jeaad AT @ 9 g g
ofderal &1 9T &R HHAT 2 |
IURATF HUAA ¥ PIAI /¥ IR G & /82
M Ry T ae ¥ 4 98 IR & wmH
g —

az\a._
(@) 7 @ 11 & 2 ®) Faa 1
(c) dad 2 (d) 13R 2 M
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12.

13.

14.

15.

16.

17.

18.

12.

Lg57 % e, SR W A il Pl A DI eqr

Who was the leader of rebellion in Bareilly, Uttar @ e W
Pradesh during 1857? CUSISIRSIER] ‘Ep& . iz
(a) Nana Saheb (b) Khan Bahadur Khan (c) goRd HEA (d) HR
(¢) Hazarat Mahal (d) Kunwar Singh o - freferfiad AT TN fdgR
Consider the following statements with 13- IR yael & q
reference to Uttar Pradesh — pifry — ) . o
(1) Forests constitute about 12.8% of the total (1) X194 & decd wrnfad g4 @1 ATH Tﬁ/n
Siographical a;ea of the sgt]e.‘ Bl a1 &
2) The districts of Jaunpur, Ghazipur and Balli . B S
( )have n;tfor:st land. " ’ (2) WY, m{mgq s afean foral | @18 a9
Select the correct answer from the code given GRS 7~
below - A4 fau v ge q @ 39 gfHu -
Code - T -
(@) Neither 1 nor 2 (b) Both 1 and 2 —— () == 1 vd 2
(€) Only 2 (d) Only 1
(c) Badt 2 (d) Fa4 1
With reference to the Pope Benedict XVI, who 14 dig a3feae qrered, f-a1 &rd 21 8§ fHue g4,
died recently, which of the following statement/s & "<d | fa=fefag s 5 5 #9149 H /¥
is/are correct? LS VAL
1. He was a native of Germany. 1. 98 9N & 5o frardt 9|
2. He was the first Pope to resign in 600 years. - : \ AL
Select the correct answer using the code given - g 600t 3 : a m ool 9 &
below — %ﬁﬁ@ﬁeﬁﬂﬁww—
Code - %e -
(@) Neither 1 nor 2 (b) Only 2 (@ 5 ar 197 € 2 (b) Fae 2
() Both 1 and 2 (d) Only 1 () g1 1 vd 2 (d) Fg 1
Non-conventional energy sources are those 15 #R—uRqR® &l Wd g @G & % -
energy sources, that are - p . o
(@) Produced from heat (b) Produced from (&) ssiaife @ (b) ﬁgﬂt‘ﬂfﬁ g
flectiii © W-ThewfMa & (o) Tl &
(¢) Non-renewable (d) Renewable i
Plane of which Airline crashed in Nepal in 16 S9a¥ 20239 frg IR &1 faw= Jurer 3
January, 2023? qHEATIRT garT?
() Nepal Airline (b) Tara Airline (@) AUt TIRETST (b) TRT TaReTIEH
(¢) Buddha Airline (d) Yeti Airline (€) g€1 TavaTgH (d) afy vaRaEs
Tappa style of music was refined and developed 17 wfld @t eur deh Prafoifag & q fryg GUE
?ouv:tl';lch of the following Mughal Emperor’s THE B TRAR A qﬁ% v R o
(@) Jahangir (b) Shahjahan (@) TTEFTR (b) wmEwE]
(€) Muhammad Shah  (d) Akbar (€) Jg=1g ' 9 Ipar
Where was the “Sudarshan Prahar Army 18

Exercise” carried out in December, 20227
(@) Madhya Pradesh (b) Uttar Pradesh
(€) Gujarat (d) Rajasthan

(C-1-23] 153101
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19

answer usi : select the correct 19.
o t::lng the code given below the lists -

(A) Article - 324

(B) Article - 315

(C) Article - 280

(D) Article — 338

List - 11

(1) National Commission for Schedule Castes

(2) Finance Commission

(3) Public Service Commission

(4) Election Commission

Code -

(@ A-(4), B-(3), C-(2), D-(1)

(b) A-(3), B-(2), C-(1), D-(4)

(c) A-(1), B-(3), C-(4), D-(2)

(d) A-(3), B-(2), C-(4), D-(1)

20.  With reference to the Attorney General of India, 2.
which of the following statement/s is/are
correct?

(1) A person is appointed as Attorney General,
who is qualified to be appointed as a Judge of
the Supreme Court.

(2) The Attorney General can be removed
through the same process as the Judges of the
Supreme Court.

Select the correct answer from the code given

below -

Code -

(a) Both 1 and 2 (b) Neither 1 nor 2

() Only 2 (d) Only 1

21. Given below are two statements, one is labelled  21.
as Assertion (A) and other as Reason (R) -
Assertion (A) - Population control is necessary to

maintain the environment of the
country. '

Reason (R) - Due to the rapid increase in

population, the environmental
balance is maintained.

Select the correct answer using the code given

below -

Code -

(a) Both (A) and (R) are true but (R} is not correct
explanation of (A)

(b) (A) is false but (R) is true o

(c) Both (A) and (R) are true and (R) is correct
explanation of (A)

(d) (A) is true but (R) is false

[C-1-23) 153101 Page § of 32

A1 B G-Il QA gAfera Pifrg den yfad b
A Ry 10 B § ¥ SR B gAY -
T — |

(A) ST — 324

(B) 3= — 315

(C) =T — 280 .

(D) =T — 338
GG

(1) T arggfad Sfa s

(2) fa=r amanT

(3) B |AT AT

(4) Fyates smamT

az\? pe

(@) A-(4), B-(3), C-(2), B-(1)

(b) A-(3), B-(2), C-(1), D-(4)

(¢) A-(1), B-(3), C-(4), D-(2)

(d) A-(3), B-(2), C-(4), D-(1)

ARG @ HegEae] @ wed ¥, FrefaRad @i

¥ ¥ B9 |91 /9 98 2/

(1) FEEA! & U W U9 dfdd @1 Agfd
arfy, o & Semaw e b T
frge 89 & fog aféa &)

(2) FETOIIEE) B SHe Ug A IH ufkan 9
ECTAT T THdl & oY b Seadd <=marea &

e B |

Y Ry T B ¥ FE IR F1 7T DIY —
Hc —

\(j.gaﬁimmz (b) ¥ &Y 19T & 2

(c) Baa 2 (d) Baa 1

99 @ dyd € A ¥ e @ AWEAT (A)
3R IR BT BRI (R) HET T & —
FFHY (A)- 29 @ TATaRVT B TR G B

forg wrereRE fzEeT v € |
SR (R) - oo # d19 3fE & SR gEian
g a1 e & |
2 R T e ¥ ¥ IR gAY —

az\?_

(a) (A) 3R (R) QT W € fbeg (R), (A) 3 W
T 8] Hdl

(b) (A) et ® fbeg (R) W< &

(©) (A) 3R (R) &HI | & AR (R), (A) & @&
AT &l &

(A () W & R (R) o
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22. Which of the following events was the last in 22
chronological order?

(@) Moplah Revolt (b) Khilafat Movement

(€) Home Rule (d) Jallianwala Bagh

Movement Massacre
23. Match list-l with list-Il and select the correct 23
answer using the code given below -
List ~ 1| List-11
(Mountain) (Countries)

(A) Kilimanjaro (1) Morocco

(B) Toubkal (2) Algeria

(C) Stanley (3) Tanzania

(D) Hoggar (4) Uganda

Code -

(a) A-(3), B-(1), C-(4), D-(2)

(b) A-(4), B-(2), C-(3), D-(1)

(c) A-(3), B-(4), C-(1), D-(2)

(d) A-(4), B-(3), C-(2), D-(1)

24. Match list-l with list-Il and select the correct 24.
answer using code given below —

List - | List- 1l
(Diseases) (Factors)

(A) Peptic ulcers (1) Virus

(B) Dengue (2) Protozoa

(C) Elephant Foot (3) Worm

(D) Malaria (4) Bacteria

Code -

@ A-(4), B-(2), C-(3), D-(1)

(b) A-(3), B-(4), C-(2), D-(1)

(¢) A-(4), B-(1), C-(3), D-(2)

(d) A-(2), B-(3), C-(4), D-(1)

25. With reference to the composition of the 25.
Legislative Council in a state of India, which of the
following statement/s is/are correct?

(1) In the Legislative Council there may not be
more than one-third members of the total
membership of the Legislative Assembly of
that state.

(2) The Legislative Council of a state must have at
least forty members in it.

Select the correct answer from the code given

below -

Code -

(a) Both 1 and 2 (b) Only 1

() Only 2 (d) Neither 1 nor 2

Page 6 of 32
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WI # gfe 9 Frfarad g 4 g
Fraed aifem o _
mm%ﬁ%?Ca(m%wmame%
() 8m wa ererd_ (d) SHerEre arAg(
L ATHIS |

—| Bl —Ilﬁgﬁ%ﬁ&ﬂ'ﬁqmﬁfam@

E f n%ﬁﬂaz 3wl I 3@;# )
— | =

E?a) (%)
(A) farcdraraml (1) HRFHT
(8) @ (2) Sretiiyar
(C) wah ) Tt
(D) &Y (4) ZrST
Wg\? —

(a) A-(3), B-(1), C-(4), D-(2)
(b) A-(4), B-(2), C-(3), D-(1)
(¢) A(3), B-(4), C-(1), D-(2)

- (d) A-(4), B-(3), C-(2), D-(1)

-l B G-I ¥ gAfer Fifom a1 de 2y
T HE P AT TN HE IR B gAM

HIfAT —
o -1 5 -1l
(caey) (FR)
(A) Uftes goT - (1) faamor
B)ST - (2) wreTiaT
(C) Wit dig (3) 3™
(D) waRan (4) faramy
R._

(a) A-(4), B-(2), C-(3), D-(1)

(b) A-(3), B-(4), C-(2), D-(1)

(c) A-(4), B-(1), C-(3), D2)

(d) A-(2), B-(3), C-(4), D-(1)

YRA & U T ¥ v oRve & 7eq & go

#, e @ /W da w2

(1) v faer aRwe § 99 50 & R @
T W T B U fowTs ¥ e wew
T8 & 9Phd 2 |

(2) U W9 @1 faur aRee § &9 39 areig
HSH JE¥ & BH =Ry A~

A fy T g ¥ |E S &1 T St —
HZ\?_

(a) gFF 1 e 2 (b)%d?»ul

(c) Baa 2 @aar 191§ 2

T
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26‘ w H . .
hich of the following is known as “World 26. = # & 3 @1 “fva deddveH fRaw” @& ¥4

27.

28.

Wetlands Day”?
(a) 10 January

(b) 1 Feb
(¢) 15 January °oriary

(d) 2 February

In which year, “Mid-day Meal Scheme” was

renamed as “P.M. Poshan Scheme”?
(a) 2020 (b) 2019
(c) 2018 (d) 2021

With reference of the election of the Vice -

28. /we & FYNgUl

H S AT 27

(a) 10 ST (b) 1 HRaX!

(c) 15 rradt (4 3/ _
fper ad geifaa fan T

(a) 2020 # (b) 2019 H

c)2018 # (d) 2021 9

President of India, which is declared void by the' - > wqmrerar g1 7-4 =1fad faar T & @ Hed #,

Supreme Court of India, which of the following
statement/s is/are correct?

fre 8 A @A W/ B9 T 2R
(1)Wﬁ$m#?{wmﬁMﬁqé

(1) The acts done by him as Vice — President
before such declaration are considered valid.
(2) The acts done by him as Vice — President on
the day of such declaration are not considered

Sud g fau U At w2 2
(z)mﬁﬁm#wmﬁmgﬁ
a%ﬁﬂaﬂ%mfi‘m?rvmdﬁ%mﬁ

valid. a9 ¥
Select the correct answer from the code given : N L
below - 41 oy U gE W FE I A FET A0
Code - _ T — -
(a) Both 1 and 2 (b) Only 1 (a) T 1TAT 2 © a1
() Only 2 (d) Neither 1 nor 2 (c) @adt 2 (d) F @ 177 & 2

29. ﬁﬂ%@ﬁﬁﬁﬁﬁﬁ%ﬁﬁ?:m
AR T T @ gAr fHar?

29. Which among the following ruler of Kashmir
abolished Zaziya and Cow Slaughter?

(@) Sikandar Shah (b) Shamsuddin Shah (a) Qpex e (b) T=gE= T
() Haider Shah (d) Zain-ul-Abidin (c) TR WE (@) S T

30. Hangul-deer is found in which part of India? 30. WRa @ fg wrT A ET'lj__H‘[_f{ F7 2307 9T ST

(@) In Jammu and (b) In Assam 27
Kashmir : \@/rrmi AR FER §  (b) IEH #
(¢) In Rajasthan (d) In Kerala (c) o H (d) B H
31. Consider the following statements about [ 31: durei Rew @ gof 3 fr=feaRe o ®
frar g -

sustainable development —

(1) Based on the global indicator framework and
data produced by National Statistical
Systems and information collected at
regional level, the United Nations Secretary

(1)%@%@@%
| gRT WA Ud &9 IR W

Fofod gEa B MR R HIHE T
qeriE e aiffe SuRvia e el

General presents an Annual Sustainable
Development Goal Report. Rare W o 2| ;

(2) Global Sustainable Development Report is (2) g weia ﬁam:f Rare _E"_\’ fermme Hgad
produced to inform the quadrennial T HBT?THT'ﬁ R e
sustainable development goal review de B gl 1 gAREcre %@ EES G|
deliberations at the U.N. General Assembly STt B |
once every quarter. a1 Ry TU FGE BT ORT IWS FE IR B

Select the correct answer using the code given AT FRT —

below — T —

Code - "

(a) Only 1 (b) Only 2 @ o1 1 ®) waet 2 |

() TMF 179 2 @ Far 197 R 2

(c) Both 1 and 2 (d) Neither 1 nor 2

[C-1-23] 153101 DownloadedPEgohvf Aitps://dhyeyaias.com
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32. Natural resources should be used by the present : _ ) i
s fan ¢ 6 SpRAP T T i

generation in such a way that if there is minimum

degradation of natural resources, then what kind g1 a1 g8 fd geR P fawTd wEe?
of development would it be called? &R El, _
(@) Economic (b) Organic (a) anffa fasra (b) Sifae faare
Development Development —
(¢) Social Development (d) Sustainable (c) o fa®ma @—'
) Development
33. Which Indian origin businessman has been 33. HRATA e @ ft caraardl F1 WW L
elected as Mayor of London Borough of a1 @1 "I Gl R g1 Tl e’
Southwark for the second time? (o Titaa e (b) Hivs yifes
(a) Gautam Adani (b) Neeraj Patil | —_
i b gt =gel (d) A% gl
(€) Sunil Chopra (d) Sam Dalton I
34. Consider the following events and arrange these ) 34, forfaRad gesian 92 fagr #IfAT a1 3= 4
in correct chronological order starting from the FTATHA H afed #ify, Fad 98t 9 oAay
earliest to the last activity — e Tfafafy a6 — |
(1) Appointment of the Drafting Committee (1) ST w7 Fgf .V
(1) Indian Constitution was adopted and enacted (1) ¥R GRET @ W s wfafrafa
(Ill) Date of commencement of Indian i 2
o s
Constitution ‘.;.? (1) A R S & Ry

(IV) Constitution Assembly first met > : )
Select the correct answer from the code given (IV) 6 41 &1 worm dod

MR Ry o oae § W SR @ T F -

below -

Code - HT —

@ v, 1,1, ®) 1,1, v, I @) IV.LIL i (®) 1,11, IV, HI
© v, 1, m,n @ m,u,1,1v (©) v, 1, 1, 11 CYRTTRTLY,

35. According to Economic Survey 2023 about - 35. arell & AR § AN wdervr 2023 | A

services, which statement among the following |sr FU H QP T .

not correct? 1.. 3}
[t ] [
(a) Fashion, grocery and general merchandise (@) B3, T 3R SRer qHSIEH 2030 aF

AR §-M IR B FTHT o1 faEre

will be captured nearly two-third of the Indian

e-commerce market by 2030, e & sruAr e <

(b) P.M.1. services witnessed strongest expansion (b) drow.ag. Fawsit § 2022 g § wa g
since July, 2022. ‘ ~ EESINEEC]] T |

(c) 75 digital banking units announced forl () 75 fSforea 9P sl o e 5
transforming financial services. f-_': ARl Y age B fow @ g 2

(d) Credit growth to services is above 16% since - (d) W 2022 ¥ BfST My AT 16% 3 TR
July, 2022. 2

36. Which of the following (Poetess — Compositions) ~ 36. ﬁ'ﬁlﬁlﬁflﬁ 49 39 (wafd — Ui®) el

is not correctly matched? gafora el 27

(@) Daya Bai-Vinay  (b) Sahajobai - Sahaj (@) TImErE - famg (b) wESEE — ey
Malika Prakash Hferan Pt

(¢} Son Kumari - Poem (d) Gangabai - Ganesh (©) 9 F — w@of  (d) TERE — poper 39
of Swarn Beli Dev Leela ¥olt B Hfdar e

B Page 8 of 32
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(5]
=4

(2) He was very well ve

(@) Both 1 and 2 rs(i(; '{;:I“Tis" language. [
(€) Neither 1 nor 2 (d) Onl: 2 0
* Conser the rin of ol et s,
= chronological order — .
(1) Balaji Viswanath
(I1) Bajirao |
(1) Narayan Rao
(IV) Madhav Rao |
Select the correct answer using the code given,
below - o0
Code - | )
@ 1,1, 1v, N (®) 11,1, v, i o)
©) 1, n,m,iv @ 1,m,n, v
39. Consider the following deserts and arrange them  39-
in increasing order of their size (from smallest to
largest) —
(1) Great Sandy desert Ry
(I1) Arabian desert o
(II1) Sahara desert lﬁo
(IV) Gobi desert b
Select the correct answer using the code given™
below -
@ n, 1, m, v (b) 1, 1v, I, 1
1, iv, @, 1, v,
40. Which of the following is/are the type/s of é} 40.
poverty? L?;
(1) Absolute poverty O
(2) Relative poverty !
(3) Subjective poverty
(4) Functional poverty
Choose the correct answer using the code given
below -
(a) Only1and 4 (b) Only 1,2and 3
(c) Only 3 and 4 o(d) Only 1and 2
41. Which officer was known as ‘Bhagadugha’ during 41.

Vedic administration?

(a) chief Officer of the (b) Revenue Collector
Gambling
Department

() Messenger (d) chief Officer of

Forests

e gifea & wod ¥, A=feRaa su=t W 4
P [T qE B?

(1) 98 1611 ™1 — | & gd & &Y H 9Rd
7 3|

(2) 98 @1 HTHT BT qE IJTHT FIAT AT |

(a) g 1 a1 2 (b) Haet 1

(© Fdr 1 & 2 (Ql/zjﬂz

fr=ferRas derameh & s #1a W fAar Y
AT I BIABATAR 2rafRerd By —

(1) arerreh faea=ne

(1) aTeiRTE |

(1) ARTAYT 74

(IV) |erg 31g |

4 Ry M He A wh IR gfu -

'a!\?_

@, 0, 1v, () 11,1, 1V, 111

© 1,n,m, v (d) 1,1, 1, IV
frafaRag W w faar #fan g o=
I9P ATHR D ded HY ¥ watem Fifan (el
BIe ¥ Hey fawgd d®) — =
(1) I AvS HHRdA

(NENEEERICE

(1) FERT HOWRIS =~

(IV) Tt 7oeIe

A fev U Fe | ¥ IR A -

(@ 1,1, 1m, v (B) 1, 1v, I, N
@Ju @)

dn, 1, ¥, 1=
Prefeag & & @ /A P @1 /@ TeR
e/&

(1) gof (u=m) fe=an

(2) e fi=a

(3) eafdraRe fed=a

(4) weprates fRET

9 Ry 17 B | HE IR B AT —

) ddel 1 Td 4 (b) ®adA 1, 2 U4 3
&ﬁm3@4 (d) Baat 1 IR 2
R P FIE F AGE I Aferm or?

(a) e fMTT BT G (b) IO BR ST A
(__/

ferTRY qrefl
(c) THMER UEAM are (d) STl &1 we
o CIBEARY

(C-1-23] 153101
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42. Which one of the following is the main objective

of Janani Suraksha Yojana?
(@) Reduction in maternal and neo-natal
mortality rate
(b) Reduction in maternal mortality rate only

(¢) Reduction in infant mortality rate only

(d) Reduction in neo-natal mortality rate only
43. What was the name of the female Regiment

constituted as a part of the Azad Hind Fauj by

Netaji Subhash Chandra Bose?

(a) Veerangana (b) Rani Jhansi
Regiment Regiment
() Rani Bhabani (d) Bharat Mata
Regiment Regiment
44. Which of the following statements is correct

about laterite soil?

(1) This soil is developed in areas with high

temperature and heavy rainfall.

(2) It is poor in iron oxide and aluminium.

Select the correct answer using the code given

below -

Code -

(a) Neither 1 nor 2 (b) Both 1 and 2

() Only1 (d) Only 2

*S. Who among the following translated 300
volumes of Sanskrit books collected by Firoz
Tuglaq during the campaign of Nagarkot?
(a) Talib Amuli (5) Mulla Abdul Bag;

() Mirza Muhammad (d) Azizuddin Khan

Ali

1-23] 153101

42.

43.

45.

o 3 @ P ST G AT
27

Twﬁ;ﬂwwﬁﬂ“ﬁm

(n)mmﬂ“ﬁm

(c) e forg gg <X A A

(d) ®ad TG ‘-F‘l”ﬁ'ﬁ

Jarht gam g ard g1 e @ w g

Rt & wa # ufd wfeen e o @

o7 N

(a) SR YTiE (b) AT T ¥fome

(d) |99 =17 er-;:’uq..f—‘..

Frferien ol % @ sRve Pl & w3

B AT HUT FET 27

(1) 78 B =g OoEE vd 9T aw AT e A
faefia arch 2 |

(2) 39 fiY 3 ohte sifewrgs ©d TerfE @
wmmm?

A2 i v o & w& s ghn -

$¢\E_

@adr1ar& 2 (b) ST 1 qerr 2
() aer 1 (d) Bae 2

)

Frfofed % ¥ B9 fRte qrere & Areae

aqﬁuma%ahﬂﬁuﬁasoomgmaﬁm
sare fhare T
(@ mfera argeh (®) ool sreger qrafy

(©) Tt gewre archy @ S

DownloadeﬁaEgW___



46. Given below are two statements, one is abelled  46. 1 @1 ®o & R TF B B (A) AR

as Assertion (A) and other is Reason (R) -

Assertion (A) —The Tamil Nadu coast remains dry
during  South-West
season.

Reason (R) — The Tamil Nadu coast is situated
parallel to the Bay of Bengal branch
of South-West monsoon and it lies
in the rain shadow area of the

-Arabian Sea branch of the South-
West monsoon during monsoon

monsoon

season.

Select the correct answer using the code given
below —

Code -

(a) (A)is false but (R) is true

(b) (A) is true but (R) is false

(c) Both (A) and (R) is true but (R) is not correct
explanation of (A)

(d) Both (A) and (R) are true and (R) is correct

explanation of (A)

47. Trophic levels are formed by -

(a) carnivorous animals (b) Plants only
only

(¢) Animals only’ (d) Organisms linked in

. food chain

With reference to the scheme wise allocation in

the 2023-24 Union Budget, which of the

following statement/s is/are correct?

(1) Compared to the previous year, highest
percentage of decline has been recorded in
the allocation for MGNREGA.

(2) Compared to the previous year, highest
percentage of growth has been recorded in
the allocation for Jal Jeevan Mission.

Select the correct answer using the code given

below -

Code -

(a) Both 1 and 2 (b) Only 1

(c) Only 2 (d) Neither 1 nor 2

47.

48.

Downloaded From: https://dhyeyaias.com

TER P BT (R) PET TAT & —
e (A) — <Rl e A P
< aferrg e e T 8 1K
FRYT (R) — ARG e el B WS B AT
& wAMAaR Rua # i zfiv-ufad
AFYA # Ad AR g e |

A g U e W wE IR gAT -
7 +

(a) gA) T & freg (R) W 2

(b) (A)Wed & fag (R) TTera &

(€) (A) 3R (R) I | &, afdA (R), (A) F1 HEl
AR Sl BT ©

(d) (A) 3R (R) ST T & 3R (R), (A) F1 F
AT Bl &

IS ®R 994 § —
(@) Had AETER (b) Faer drEll |
STl @
(c) daet STl A (d siEe | Sidi
Hag BH 9

HHIY g97C 2023-24 § AISARI & JTHER G

& g # 9 doEl § 9 P |1 /8 dUe

a2/ 8?

(1) froar af @ g & w0 ' Arded 3
Haiore iR derh gof o T R

(2) faBd af @ gor # wol Sfiew faee g
e ¥ waite wfoed gfg <o @ R
2l

A T ae B W D SR @

TG HITY —

ﬂz\?_
(@ 2 13k 2 (b) Baar 1
(c) daet 2 @1+ & 2

(C-1-23] 153101
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srgivep SgaT A S (197y)

49. With reference to the recommendations of the s e - > ged H frerferRad Fom
Ashok Mehta Committee (1977) on Panchayati @ yd RTRe @ | |
Raj, which of the following statement/s is/are & QP i 2 /&7
correct? araRenl  WH R
(1) The three tier system of Panchayati Raj should (1) et % S e "
be replaced by the two tier system. fgeeréta arazen il ieT |
() A block should be the first point for ) wou wR @ A wEm 2g @S @
decentralization under popular supervision fydedaao &1 yom fag A S iRy |
below the state level.
Select the correct answer using the code given Ara fay 7y ge | @& IR B AT I
below - T —
Code -
(a) Both 1 and 2 (b) Only 1 (@) @t 1 7 2 v W '
(€) Only 2 (d) Neither 1 nor 2 © et 2 YT amar2
S0 with reference to the invaders in ancient India, 50 WIdN @ @ WRA | FEE B was A
which one of the following is the correct ffafed % 9 &9 ¥ 3 55 e 20
chronological order? (@) oF — HTT — ?F"_'ﬁ ‘
(a) Sakas — Kushans — Greeks T
(b) Greeks — Sakas — Kushans b = 3w - g
(¢) Sakas — Greeks — Kushans 9 T -
(d) Greeks — Kushans — Sakas @ Frft — o — o
51. To whom does the credit goes for the 5. fheilus~y & 9RTw w8 ™= & F e &
development of coconut and sugarcane 9 fHasr e 27
agriculture in Philippines? | (a) iRt 3 (b) =3 SN
(@) French (b) Hollanders Ararfe
(c) Britishers (d) Spanish and & o [dﬁ@
Americans SRR By
52. |n December, 2022 New Zealand passed the 52. fwmw, 2022 % =gofidfs 3 apreh 9id @ fore
world’s first Law to ban smoking for next YHIM W ¥fiEe T aren fiwa @y Ul ST
generation. New Zealand's goal is to be “smoke- uRa e el B owew. aF
free” by...ccmmmememennss EHU eI BT R |
(@) 2029 (b) 2030 (a) 2029 (b) 2030
(¢) 2024 (d) 2025 (¢) 2024 (d) ;;2;—
[C-1-23] 153101 Page 12 of 32
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54.

55.

56.

[C-1-23] 153101

Assertion (A) -12 che

etahs arrived from
Africa t Soth

0 India in February, 2023
Re§torlng Cheetah Population is
considered to be a priority for Indja.

Select the correct answer using the code given
below -

Code -

Reason (R) -

(@) Both (A) and (R) are true and (R) is correct
explanation of (A)

(b) Both (A) and (R) are true but (R) is not correct
explanation of (A)

(©) (A) is true but (R) is false

(d) (A) is false but (R) is true

Which among the following (Provision — Part of

the Constitution) is not correctly matched?

(@) Official Language - Part XV

(b) The Union Territories — Part VIl

(€) The Scheduled and Tribal Areas — Part X
(d) Tribunals — Part XI

All elections to the Panchayats are conducted
by -
(a) Election Commission (b) State Election
of India
(c) State Legislature

Commission
(d) Panchayati Raj
Commission
Match list-1 with list-Il and select the correct
answer using code given below the lists —
List - |
(Theories of Population)
(A) Optimum Population Theory
(B) Social Mal-adjustment Theory
(C) Demographic Transition Theory

(D) Population-Food Supply Relationship Theory
List- 1l ;

(Propounders of Theories)
(1) Thompson
(2) Malthus
(3) Edwin Kennan
(4) Henry George
Code -
(@) A-(1), B-(2), C-(3), D-(4)
(b) A-(4), B-(3), C-(1), D-(2)
(c) A-(2), B-(3), C-(4), D-(1)
(d) A-(3), B-(4), C-(1), D-(2)

54. fyefafad § A &

53. A & o & Rt & ue @ afweE (A)

&ﬁ'\’{{ﬁ B BRI (R) F&T T 2 |
IDU (A) - w2023 7 12 et B L
b1 | IR v T 2T

R (R) - Al @ snardy B gurer wRd D

grerfiemdar 2
A QA T ®mE A WA IR B A AT —
FT —
“f}’(‘"‘ 3R (R) 1 W # afw (R), (A) @ T
7 @R weE #
(b) (A) 3117 (R) @ey # fg (R), (A) &) HE aaw=
el weer 2
(c) (A) @en 2 fhe (R) rea 2
(d) (A) Terd 2 e (R) w2
Al (vrEas - dfauE &
ARl TR D
(@) JTSHTET — HTT XV
(b) ey w5 &F — ATV
{c}aﬁ@ﬁm- X B3 — AT X
(d) arfergzor — HIT X

55. dEgal & W gl & FIER Tl £ -

(@) W~ &1 FareE
T
(c) oy ea=enfaT

(d) g=madT I AT

56. FA-l B -1 | Al Fiw R Ry

Y g BT YA IR Y HEl SO AU —
-1

gﬁw & Rigi)

(A) SugF s g

(B) IS mﬂtrmjmm;ﬁ frgr=

(C) STTHEL 3 HT

(D) SEE—@rEnr= Ayl g
-1

(%ia‘f > ufure®)

(1) &g

(2) sTcerd

(3) vefaq &=

(4) BT WSl

aze Fa—

(@) A-(1), B-(2), C-(3), D-(4)

(b) A-(4), B-(3), C-(1), D-(2)

() A-(2), B-(3), C-(4), D-(1)

(d) A-(3), B-(4), C-(1), D-(2)

Downloaded From: https://dhyeyaias.com
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57 World Social Protection Report is published by -
(@) International Labour (b) World Bank
Organization
(€) World Health
Organization
8. Who has written the book “From Dependence to
Self Reliance”?
(@) Y. Venugopal Reddy (b) C, Rangrajan
(d) Raghuram Rajan

(d) World Economics
Forum

(¢) Bimal Jalan

99. The Xylem in plants is responsible for
transporting -
(a) water (b) Oxygen
(€) Amino Acid (d) Food

60. A geographical unit that collects, stores and
release water is called -
(@) Wet land
(€) Water reserve

(b) waste land
(d) Watershed

With reference to the joint sitting of Parliament,

which statement/s is/are correct?

(1) Article 109 provides for the joint sitting of
both Houses in certain cases.

(2) The Speaker presides the joint sitting of the
two Houses of Parliament.

Select the correct answer using the code given

“61.

below —

Code -

(a) Both 1 and 2 (b) Neither 1 nor 2
() Only 2 (d) Only 1

62. Which of the following is not a sustainable
development goal targeted to be achieved by
2030?

(@) Gender Equality
(¢) Zero Hunger

(b) Space Research

(d) Good health and
well being

- Chandraprabha Wildlife Sanctuary is situated in
which district of Uttar Pradesh?
(a) Sonbhadra (b) Baharaich
(¢) Lakhimpur Khiri (d) Chandauli

57.

58.

59.

60.

61.

62.

63.

Page 14 of 32
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areifor e R PRI P e 3
(f:w a5 (b) faea 9% gwy

Hred &rl :
(¢) fava areen e (@) e i H9 g

¥

_tﬂ)/d'fé. qupmare ¥E1 (b)) AL TIRIGHE

() faser AT (d) TERTH M |

qert # jwmzm & foro forseR ger & -
%&1 (b) HATFATAA

| (d) qrA4

(c) ufA=r ofdrs
UH Hfore e o U @1 zFee] wed 2
HSRY &xcll 8 T ol BT2d 2 3% F84 £ —
@{Wﬁ‘iﬁ (b) =323 5=
(©) =t FT1 B (d) SeAfaaT=
Wﬁﬂgﬁﬁm$wq "*?‘GTTL""":!T,_J':;';
ﬁﬁﬁ’ﬁﬂﬁ/ﬁ'&?ﬂﬁ'ﬂﬁ /ga
(1) 3T FB <IN F wHz 7 ==
HYH ISP BT HIau et 2
(2) qrt e T 4°F F1 sasa g1 e
HRAT B |
%ﬁnm@eﬁﬁaﬁww_

jﬁ"l’—fmwz

T HEA )

B Fari1ar &2

(¢) daet 2 (d) et 1

ﬁwﬁrﬁaaﬁéaﬁﬁwwﬁaﬂﬂmawqﬁ

%.mzosowmﬁmﬁwawww%?

(@) ifre TEra (b) et e

(€) I @ (d) 38T aRey U
'_-__-\--.._____..

LEIH]
fﬁwaﬂmﬁamwwmzﬁﬁmm
4 Rerg 272
(@) HrFvg (b)

S
O R @t O g
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64. With reference to ‘p : : ;
which of the follow'::\ GattI e ., e N it it TR
correct? * Smements. iaie A P/ W dUT G 2 /&

(1) The PM Gati Shakti Scheme-National Plan was (1) H.R. RIS AT 31 W_i(_}_i%.-

launched in 2022. # v way o

(2) The PM Gati Shakti Scheme pertains to seven (2) IS IEERE OBy @z (T #
engines (Roads, Railways, Airports, Ports, A 391 (Wes, Ve, TERuIe, dgEl, oA
Mass Transport, Watemays’ LOgiStiCS W mr___ﬁ I .q.l_rﬁ, aﬁ? Fﬁﬁﬁﬁaﬁ
Infrastructure). NIP will be aligned with PM FECTA) & Fafd gRAvsET qLoE. i
Gati Shakti Framework. ; % o

Select the correct answer from the code given o (O ST , I

below:= frefafad @e |4 w8 I g+ -

Code - az? -

(a) Only 2 (b) Only 1 (a) daet 2 (b) Fad 1

(c) Neither 1 nor 2 (d) Both 1 and 2 () 7 & 177 & 2 (f) =11 130 2

65. What was India’s rank in the world greenhouse 65. 2022 % fazg & i M\H‘E_Ggﬁia_ﬁ qRd
gases emission in 20227 foq w9 9 oa1?

(a) 12t (b) gt (a) 124t (b) g4t
(©) 11" (d) 10t (c) 114t Adr1odr’

66. With reference to the E.V. Ramaswami Nayakar, 66. g IFRarfl Argax & Hed #, Fr=fafaa s
which of the following statement/s is/are 9 P/ 9d 2/
correct? (1) TP > N 3 R Rt
(1) He participated in the Non — Cooperation _ o

Movement: (2) SBIH 1925 H HIUH Bl |
(2) He left the congress in 1925. R Ry 1w e & W@ e FE TN
Select the correct answer using the code given gy —
— *-
ode - _
(a) Both 1 and 2 (b) Only 1 (@) m;f 1 W_; ‘:) 3y
(€) Neither 1 nor 2 (d) Only 2 ()9 ar 19 & 2 (d) 3a 2

67. By which year the target of population stability 67. ¥Rd # e W@ & @ fFa 9§ d@
has been fixed in India? frafRa faam wrar 272
(@) Year 2070 (b) Year 2045 (a) 9§ 2070 9H (b) a¥ 2045 TF
(€) Year 2080 (d) Year 2075 (c) & 2080 TF (d) a§ 2075 a®

68. Which of the following (Scheme — Year) is not 68- fr=ifefag & ¥ @ & (@1 — T¥) |
correctly matched? gifera =781 27
(a) Shyama Prasad Mukherji Rurban Mission - (@7 yETE gl e e - &

2015 (b) B¥et BTSRRI gevve wfewd) W@ — 2017
(b) Rural Housing Interest Subsidy Scheme - 2017 (©) Wiwe Ared T T — 2014
(c) Sansad Adarsh Gram Yojana - 2014 i
nsa J ; (d) 9 T SurAm UM PRI AT —
(d) Deen Dayal Upadhyay Gramin Kaushalya
Yojana- 2014 2014
[C-1-23] 153101 Page 15 of 32
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69. What is the theme of the International Day for

the Eradication of Poverty for 2022-23?

(a) “Dignity for all in practice.”

(®) “Coming together to end poverty and
discrimination ”

(©) “Atting together to empower children, their
farﬁ]_]ies and communities to end poverty.”

(d) "A&S’nzzlerating glo
wit‘ﬁbut poverty.”

bal actions for a world

70 Which of the following hormones is secreted by

71.

72.

the Beta cell of Islet of Langerhans of Pancreas?

(@) Adrenalin (b) Glucagan
(c) InsHin (d) Aldosterone
Matcl‘gjist-l with list-l ang select
answe‘r_using the code
List -
Book
(A) Mirat-e-Sikandari
(B) Burhan-e-Masir
(C) Ri\@;—us-Salatin
(D) Ri\;y__z-ul-lnsha
List= |
Context
(1) History of Bengal
(2) History of Bahmani’s Ahmad Nagar
(3) Collection of Mahmood Gawan’s letters
(4) Victory of Gujarat
Code {B
(a) A-Qj, B-(2), C-(1), D-(3)
(b) A-g}, B-(4), C-(1), p-(3)
(©) A-(1), B-(2), C-(4), D-(3)
(d) A-(4), B-(2), C-(3), D-(1)
The Indian Biological Data Centre is being set up
in which state?
(a) Haryana
(c) Uttar Pradesh

the correct
given below the ljsts —

(b) Punjab
(d) Gujarat

polluter?
(@) Faecal matter (b) Pesticide
() Urine (d) Domestic waste

(C-1-23] 153101

69.

70.

71;

72.

73. Which of the following is not a biodegradable  73.

I 87°
(a) a8 aﬂﬁzﬁf%m -
(b) "TEY 3R HEHTd FATC ey
AT _
(c) Wmmmﬁa%fﬁqaﬁﬁm“ﬁw
&M HeAT [ |
@) “whdr & famn gfrn & aRaw FEl § o
AT
Preiferfea # 9 @i gt s & Sy
& gAe B e qa (@f@E) 27 Enfe
11,27
(a (b) TFHTITH
‘(C) Eﬁwmﬁq (d) ".?c--,;’l?él?l:‘l
ﬁ?ﬂ—lﬂﬁ?ﬁhllﬁﬁﬂﬁ?ﬁmﬁﬁﬂqﬁm
@ HR Ry T g @ v o gfig —
-1
(A?f?jr?r~q~fif|am'&
(B) SRETF—T—w1RIR
(C) RTS8t
(D) Rars—Se—zayy
-1l
fawg
(1) 71 &7 sfery
(2) TN & sEHETR B hes
(3) He= ot & uHt B wHom
(4) ToRTa fasry
ﬂge —_
(@) A-(4), B-(2), C-(1), D-(3)
() A-(2), B-(a), (1), D-(3)
(©) A-(1), B-(2), C-(4), D-(3)
(d) A-(4), B-(2), C-(3), D-(1)
R SfaF e B v wrog nfig fa
ST T 87
(@) gfRamon (b) Uotrg
(€) IR yeuT (d
Frfofem % & o W@g yeued el
87
(@) 7o garef (b) Fresrerey
©) 7 (@) e
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74 In National Parks, Genetic diversity is maintained

74.
by -
(@) In-situ conservation (b) Ex-sity conservation
(€) Gene pool (d) None of the above
75. The aquatic plant commonly used as bio fertilizer; . 75.
in the water-logged rice field is - :'I"
(a) Wolfia (b) Azolla =
(€) Trapa (d) Lemna l
76. ‘Ozone layer’ absorbing ultra - violet radiation 76
exists in which of the atmospheric layer?
(@) Mesosphere (b) Troposphere
(c) Stratosphere (d) Thermosphere
77. Which of the following cities of Uttar Pradesh is 77
not included as the venue for 11 meetings of 200!
ssions of G-20 during India’s Presidency of the rg.
ouping? ) k
) Agra (b) Varanasi <
(c) Greater Noida (d) Kanpur
78. The Constitution of India initially permitted the 78
use of English language for all official purposes
for a period of -
(a) 10 years (b) 20 years
(c) 5years (d) 15 years lg%
79. The “NISAR satellite” is jointly developed by;
which of the following organizations? o
(a) ESA and ISRO (b) ROSCOSMOS and .3
CNSA
(€) ISRO and NASA (d) ESA and NASA
80. Which of the following (Port-Country) is not 80-
correctly matched? N
(@) Montevideo - (b) Igarka — China <
Uruguay =5
(€) Jakarta — Indonesia (d) Rotterdam - )
Netherland
81. Who among the following is the first women 81
Speaker in Lok Sabha?
(@) Urmila Singh (b) Pratibha Patil
(c) Meira Kumar (d) Sushma Swaraj
82.

82. Which one of the following (Tributary — River) is
not correctly matched? ‘
(a) Pranhita — Mahanadi(b) Hemavathi — Kaveri

(c) Malaprabha - (d) Manjra — Godavari
Krishna

UEfia FemEl 4 oanfde fafduar &1 va-—van

ST 8 —
gA—de AR g1 (b) Yai—die, HeETT g1
(¢) S qa g (d) Sudam § & P TEl

S uen 5 U A9 i o @ @d A
Wa—3Fdves & &9 H WAPT | A odl e, 98

g - _
(@) arfemson (by rgmj)
() g1n (AT AT

qerdin fafdem @ sgenfaa s aren e

avel fba argued wr [ Rug 27
(a) e e (b) 2119 =4
(ey THAT H3d ) (d) a9 "3A

IR ye9 & fawfafeaa srea 8 9 &9 |91 B
VR P FAFA F 27 G-20F 20091 H 9H
11 Jo&i @ form widg & w9 8 afaa 78 27

(a) 3TTRT (b) AT
(c) rex =ger @

yRd G | gy 7 fE@E maf F o
gAfa we @1 207

() 20 94 (b) 20 79
() 5ad (d) 15 a9

“fraR gune” FEfafaa 8 | &= =712 g™

ﬂgﬁmﬁﬁmﬁm faan T 27

(@) $THU 3R gE1  (b) TFHEEE IR A

TAUHET

¢) SO 3R AT (d) TTHT AR A
BT (FERATE—3T) HE FA

el 8

(a) HivedifEar — <¥79 (b) T — =14

(c) FapTat — geida (d) ﬁ:ﬁ_f/ﬁmm

A @) g e wax a3 | @ 2o

(@) 3f ' (b) wfepyr arfes
({E (d) o1 TR
Frefefa & @ @ @ (@ 78 - T8 78
e 8 22

(a) yruTfRdr — Heral
(c) ATAYH — P

(b) BHTIN — B~
(d) HRT — TMETael
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83. |n 1918, the United Provinces Kisan Sabha was
formed by which of the following leaders?
(@) Swami Sahjanand  (b) Baba Ramchandra
Saraswati
(©) Indra Narayan
Dwivedi
84. Which of the following Scheme/Programme is
not the Central Government Programme and it is
Uttar Pradesh Government’s Programme?
(a) Ganga Expressway (b) MGNREGA
() Gramin Swasthya  (d) Pt. Nehru Utkarsh
Mission Mission
85 With reference to the Human Development
Report, 2021-22, which of the following
statement is/are correct?
(1) India’s rank on the Human Development
Index has upgraded from 130 in 2020 to 132
in 2022,
(2) India’s rank on the Human Development
Index has stipped from 130 in 2020 to 132 in

(d) pPt. Jawaharlal Nehru

2022,
Select the correct answer using the code given
below -
Code -
() Only 1 (b) Only 2

(¢) Neither 1 nor 2 (d) Both 1 and 2
86. Which of the following factor is the most
important factor for the lost of biodiversity?
(@) Destruction of
natural habitat

() Genetic assimilation (d) Control of predators

(b) Pest control

87. The river situated along the border between the
United States of America and Mexico js -

(@) The Mississippi (b) The Colorado
(¢) The Rio Grande (d) The Amazon

88. Which of the following statement is correct?
(1) Ram Ganga river joins the Ganga at Kannauj.
(2) River Betwa joins the Yamuna near Prayagraj.
Select the correct answer using the code given
below -

Code -

(@) Only 1 (b) Both 1and 2

(€) Only 2 (d) Neither 1 nor 2
C-1-23] 15310}
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84.
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86.
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89.

90.

91.

92.

93.

-23] 153101

1C-1

Which statement is trye for Finance Sector (Fiscal
Management) in the Union Budget-2023?

(a) Fiscal Deficit of 3.5% of GSDP allowed for
states.

(b) Budget estimates 2023-24
expenditure is ¥ 55 lakh Cr.

(c) Fiscal Deficit 2025-26, the target is to be
below 5.5%.

for total

(d) Twenty years interest free loans to states.

Which of the following is not a part of the

Article 20 of the Constitution of India?

(@) Double Jeopardy  (b) Ex-post Facto Law
Clause

(c) Prohibition Against (d) Prohibition against
Torture Self Incrimination

On which of the following, proved charges the

Finance Minister Nadhim Zahawi was sacked

from the Government in February, 2023 by the

British P.M. Rishi Sunak?

(a) Disclosure of (b) Sex Scandal

Secrecy of the

Cabinet

(¢) Tax Scandal

By which of the following Acts, the system of
‘Chamber of Princes’ with 120 members was

(d) None of the above

created?

(@) Act of 1919
(c) Act of 1909 (d) Charter Act of 1853
Which the following (Union Budget
Departments 2023-24 - Allocation amount
approx. X ) is correctly matched?

(a) Pradhan Mantri Jan Arogya Yojana — ¥ 5,000

(b) Act of 1793

of

Crore
(b) Dept. of Health and Family Welfare -3 80,000

Crore
(c) Ministry of Health —X 89,155 Crore
(d) Dept. of Health Research — < 9,155 Crore

89,

90.

91.

92.

93.

Dwg §uic-2023 ¥ iy &3 # (oo

gya=E) 3 fov o9 |1 g 98 27

(@) TN, BT 3.5% TSP " B A5G
B Al |

(b) 2023-24 % W AT ¥ FHl AT 55 A
Fe A B |

() 2025-26 3 fIT TTHE TR FY 5.5% | A
@A T e |

(d) x4t 3§ ad @ fore & gam o)

frafafed 4 @4 29 wrdg d@fum @

FedE 20 &1 few T 27

(a) e 2T A g (b) FBEER AR

(¢) g @ faeg A (d) wd a= favg

Ez e B W Py
frafoRea § 9, e Rig 39 @ R W
B, 2023 F fAfew w6 g6 g™
I TYER ¥ e 8w sl 1 ger R
oq1?
(a) HAHUSA B

(b) ¥Fq wHvSH
MY 57 B
P BRI
() ea (d) ST | 9 D

¥ ¥ frg N gr, 120 9
T R i AT @ @awn o T8 oA

(a) 1919 &7 afefrm  (b) 1793 P AT
() 1909 FT A™FFaH  (d) 1853 &1 WY
Prefofea § ¥ aH @@= gue far
2023-24 — ARG aafed <M X ) we gAferd
2
i)mﬁﬁmmm—s,ooom?
(b) Wy Td URAR Hedol HAGI — 80,000
e T
(c) T@TRY WA — 89,155 TS I

(d) warey My famT — 9,155 @RS T
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94. Given below are two statements, one is Jabelled

as Assertion (A) and other as Reason (R) -
Assertion (A) — The President can recommend to
the Parliament to change the

boundary of any state after
seeking views of the concerned
Legislature of that state on the
subject within specified period.
Reason (R) —Itis not mandatory for the President
to accept the proposal of the
concerned State Legislature.
select the correct answer using the code given
below -
(a) (A) is true but (R) is false
(b) Both (A) and (R) are true but (R) is not correct
explanation of (A)
(c) (A)is false but (R) is true
(d) Both (A) and (R) are true and (R) is correct
explanation of (A)
95. With reference to the post’s in Secretariate of the
Parliament, which of the following statement/s
is/are correct?
(1) Common posts may be created for the
Secretariate of each House of Parliament.
(2) The Parliament has right to regulate the
service conditions pf Secretariate staff of

either House of it. _
Select the correct answer from the code given

below —

Code -

(a) Only 2 (b) Neither 1 nor 2
(c) Only 1 (d) Both 1 and 2

96. Shivanasamudra and Kalpakkam are respectively
important for -
(a) Hydel Power and
Nuclear Energy
(c) Nuclear Energy and (d) Solar Power and
Hydel Power Nuclear Energy

(b) Thermal Power and
Nuclear Energy

94. ﬁﬁa’rmm%ﬁﬁﬁﬂwaﬁaﬁﬁﬁm(msﬁ?
TR PY BRI (R) FET TN E —
W(A)—ﬁﬂﬂwaﬁqﬂWWﬁ
RypTRet Ul WS P oAl 8
o g forg Ui wafe
5 @ faurHsd gRT S99
qe W AR UE a3
@ Maw ura Fd £ |

$RT (R) — Yrgdfa B T4 Aoy faErEe @
gera e sfrard T £

%mwm'ﬁﬂﬁrﬂwgﬁﬁ—

(a) (A) wea 2 faeg (R) 1A 2

(b) (A) 3R (R) 2T HeE 2 fHg (R), (A) P E]

R g Bl 7

\_yf) (A) Tord & g (R) @7 2
(d) (A) 3R (R) Tl &3 £ 7 (R), (A) #T HEI
AT FAT &
9. gz & wRaeE ¥ gt @ wed 5 A 3
P /Y T G 2 /B

(1)@3%@6%6%3%@??%%?
ﬂﬁqﬁaﬁqﬁaﬁﬁﬁﬁmz«ﬁm%u
(Z)WﬁMMﬁW$W

Wﬁﬁmsﬁﬁﬁﬁﬁvﬁﬁmaﬂ

YR BT 2
S 2T Y B A 9 SR B T DT ~
e -
(a) Pad 2 (b) 7 @ 141 & 2
(c) Badt 1 (djﬁfmanz

96. mviwwm:%ﬁmqga@
4 /

DR GRICIRE! (b) G9 St TG
e FHel T Gt
(©) i wat @ (d) €K e gd
wel wfed e St
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a7

98.

100.

Wit.h reference to Union Finance Commission
which of the following statement/s is/ar'
correct? :

(1) Finance Commission has a Chairman and six
members.

(2) It submits its report to the NITI Aayog.

Select the correct answer using the code given

below —

Code -

(a) Both 1 and 2 (b) Only 2

(¢) Neither 1 nor 2 (d) Only 1

In February, 2023 India’s biggest helicopter
manufacturing plant was inaugurated in which
one of the following places?
(a) Chakeri, Uttar (b) Nasik, Maharashtra
Pradesh
(c) Tumkuru, Karnataka (d) Coimbatore, Tamil
Nadu

with reference to mineral resources, which of

the following statement/s is/are correct?

1. Lithium’s inferred resources have been found
in Reasi district of Jammu & Kashmir.

7 India is import dependent for many minerals
like Lithium, Nickel and Cobalt.

Select the correct answer using the code given

below -

Code -
(@) Neither 1 nor 2 (b) Both 1 and 2
(c) Only 2 (d) Only 1

Which of the following Provision is a part of both

Directive Principles of State Policy and

Fundamental Duties?

(a) Participation of workers in management of
industries

(b) Protection of environment

(c) Guardians to provide
education to children

(d) Uniform Civil Code

opportunity  for

101 Which of the following is not an economic

TRE IR R AR

activity?

(a) Voluntary Social  (b) Farming
Service

() Transportation (d) Service

9. wu o o @ wed 4 PrefaRe # 9

P /Q FuA qd 2/

[1)%3{@“1’&%%&1%3:3‘5@%’%?&/

(2) 7w wfvdee Ay s B ARG, T
g| \é

Ay Ry T FE 4 A WA S P AT

AT —

Ei:a_
(a) 1Td 2 &t (b) BaA 2
A1 & 2 (@) A 1

98. m.zozaﬁwﬁma@mﬁﬂ?ﬂ

mwmﬂﬁmﬁ%ﬁﬁ ©IH R
-~ e

g AT?

(a) T, ST (b) if¥en, FERTS

@) qraR, FAed (@) PR AT
99, @ﬁtﬁﬂﬂﬂ%ﬁﬁﬁﬁmﬁ@ﬁmﬁﬁ

A /8 TR 2 /87

1. TEH-FER D Rare e 8 afmm @

a@ﬁﬁmﬂm‘mfﬁé%i

5 qRe @ Wi g SRR, e @=n
Fraree @ fore amaa ® R 81
S 2 T aE A w8 I AT -

‘ﬁ‘\a_
(@) 171 & 2 m)a‘m‘inﬁ?g/
(c) daa 2 (d) daa 1

100-ﬁrr=rf%1fiﬂﬁﬁﬁaﬂﬂmmmﬁrﬁﬁmaﬁﬁ

wmwmm?
' k1 N HHBRI @ HTT AT

(c) afiniras® aedr B Qe & U feeran
(d) g ATTRS Wi
—

101. frefafaa & @ o= & anf¥s e a8 2

(a) Wftos aara dar  (b) fbar (@)
b —
(d) v
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192- Which of the following scheme/s is/are related to
Uttar Pradesh?
(1) Anuthee Uphar Scheme
(2) Matra Shakti Udyamita Scheme
(3) Kaushalya Matritva Scheme
(4) Stree Nidhi Scheme
Select the correct answer using the code given

below -

Code -

(@) Only 2 (b) Only 1

(¢) Both 2 and 3 (d 2,3and 4

103. Eastern boundary of the Harappa culture is
indicated by which of the following?

(a) Manda (b) Harappa
(€) Alamgirpur (d) Rakhigarhi

104. Bjological Oxygen Demand (BOD) is a standard
criteria for -

(a) Pollution assay in aquatic ecosystems
(b) Assaying 0; level in high altitude regions
(€) Computing 0, level in forest ecosystems
(d) Measuring 0; level in blood

105. Desert dwelling animals are called -

(@) Xericoles animals (b) Arboreal animals
(©) Fossorial animals (d) Terrestrial animals

106. Make the pairs of chief rivers of their place of

origin —

Rivers Place of origin
(A) Yamuna (1) Sihawa
(B) Krishna (2) Nasik
(C) Godavari (3) Mahabaleshwar
(D) Mahanadi (4) Yamunotri

(a) A-(4), B-(3), C-(2), D-(1)
(b) A-(1), B-(2), c-(3), D-(4)
(€) A-(4), B-(2), C-(1), D-(3)
(d) A-(4), B-(2), c-(3), D-(1)

102, Preaferee 3 & B A AT/ IR way

sidfa 2 /87

(na:r@ﬁwz”“';m”

(2) wqgafad Safiar )

(3) Frerear ATGd AT

(4) 0 Ay Zror

A fag g Ze @ FE S GET - _F
- .
(a) ®ad 2 (b) ®ae 1 "

(cy @i 2 3z 3 (d) 2, 3 3% 4
103. Feferfer # & @14 g Tl & g4 g
&1 fAuteor @ear 82
(a) = (b) gy
¢ (d) 4T

104. ameiifiee et famis (§an ) fras

UH HHE ATES 27

(@) ey wikRerfors 73 5 wgwor #1 =it @ farm
) ST $AE AT S H st 2 st @
ferg

© &1 uRRafos o3 4 sitedem 3 == &
IO B foro

() 359 & sifRfoH @ @R & 5 3 B

105-Wqﬁ'maﬂ#mﬁwmm?—

(@) wofemg (b) geaTst Far
(c) fa aTel AFER(d) =g T

fet SEULROC]
(A) T (1) Ryerar
(B) o 2) TH®
(C) MeEd 3) HEEJTaR
(D) /mETS ) T

(37 A-(a)}B-(3), {(2), D-(1)
(0) A1), B-(2), ¢13), D-(a)
(©) A-(4), B-(2), C-(1), D-(3)
(d) A-(4), B-(2), C-(3), D-(1)

107. Which one of the following (Passes - States/U.T.) 107. fr=forlRea & & o\ «r & (R — 50 /3w

is correctly matched?
(@) Mana - Himachal  (b) Niti — Uttarakhand

Pradesh

(¢) Diphu = Ladakh (d) Aghil — Arunachal
Pradesh

i wew) wE gAfer 22

(@) 1 — fRereer srden (o) Ay — wereresd

(c)ﬁﬁ—m{\ (@) ferd — arevmee
&
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108. Which among the followi
} ing organisations was 108. fy=ifofRag & ¥ @ar wwe fReeh TR
responsible for throwing a bomb at Viceroy Lord =5 e

Hardinge in Delhi? dfé efén w a9 vaa @ forg Iawer a1

(@) Anushilan Samiti  (b) Al India Labour \(}’Wﬁ?ﬂ afafa (b) m R AT
Association . - b

(€) Yugantar (d) United Patriotic © AR 9 Wg W
Association a9

109. Role of Human Resources in Economic 109. anfdfes feT § Aa HH™H P AT & g

development, which of the following ¥ Preffeg sud § @ a9 w1 /3 98 /&
statement/s is/are correct? '

1. Effects of economic development on 1. 3ol faama a1 weeen gig T | ?
population growth. 2. SwEn gfyg @1 snfds fawrg 9 s |

2. Effects of population growth in economic 3 oAl TA BT B MR R a8 IR @1 T
development. e

Select the correct answer using the code given ST —
below - -q\g -
Code - 3
T (b) 5 @1 11 21 2
(@) Only 1 (b) Neither 1 nor 2 (@) 1 N

' (d) 2T _1 38
(c) Only 2 (d) Both 1 and 2 (c) wad 2 W .
110. Match list-1 with list-ll and select the correct 110 -l @) g | garae Fifem @z graat

answer using the code given below the lists - 49 Ry T @ | /el TR P T FI1AT —
List - | -
(Sustainable Development Goal) (Fea fawra @e)
(A) SDG - 10 (A) TE2LS. - 10
(B) SDG - 13 (B) TS - 13
(C) SDG - 14 (C) T2 - 14
(D) SDG - 15 _ (D) TS, - 15
List - Il -
(Related With) i (ﬂﬁﬁlﬁm
1) Climate Action SEEIR!
l(:z) Life on Land (2) oE W uﬁzﬁ
(3) Reduced inequalities (3) srgEaRE § P
(4) Life below water (4) T B A @ ShaA
Code - e —
(a) A-(3), B-(2), C-(4), D-(1) (a) A-(3), B-(2), C-(4), D-(1)
(b) A-(2), B-(3), C-(1), D-(4) (b) A-(2), B-(3), C-(1), D-(4)
(c) A-(3), B-(1), C-(8), D-(2) o) A-(3), B-(1), C-(4), D-(2)
(d A-(1), B-(2), C-(3), D-(4) (d) A-(1), B-(2), C-(3), D-(4) , -
111, Which of the following pairs (School of Thought — 111 Freferfad 3 ¥ PH AW (FEH - TER®)
Proponent) is correctly matched? & gt T, S j
(@) Vaisheshika = (b) Nyaya — Gautama (@) e — st m( w
Patanjali _ N | “
(¢) Mimansa — Kanada (d) Uttara Mimansa= (c) i — dva (F3)(d) Jav Al i
Kapila
PSS, _
S Page 23 of 2 T A
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112. Who was ‘Khareetadar’?

(@) Chief Officer of (b) Main custodian of

Pargana royal palace
(©) An officer who was (d) Despatcher of royal
trained in keeping decrees

accounts

113. Which one of the following place is the
confluence of the river Alakhnanda and the
Bhagirathi?

(@) Dev Prayag
(¢) Rudra Prayag

(b) Vishnu Prayag
(d) Karn Prayag

114 \Who authored the book “The Challenge of World
Poverty”?

(@) Jean Dreze

(€} Amartya Sen
5. The “Agenda — 21”

to -

(®) Adam Smith
(d) Gunnar Myrdal
of Rio Summit, 1992 is related

(@) Preservation of
ozone layer

(¢) Sustainable
development

(b) Environmental
education
(d) Polluter - Pays
principle
116. Which one of the following is not true about the
total outlay in the Union Budget 2023-24?
(@) Interest payment
(20%)
(¢) Subsidies (9%)

(b) State share of taxes
and duties (18%)
(d) Defence (8%)

117. When did the Water (Prevention and Control of -

Pollution) Act was enacted in which of the
following year? ‘
(a) 1976
(c) 1974

(b) 1977

(d) 1975

118. Human heart is made up of how many chambers?
(@) Only four (b) Only two
(¢) Only one (d) Only three

119. Which one of the following is the largest coal

producing centre of Ukraine?
(b) Kharkiv

(d) Donetsk

(a) Zaporizhzhia
(¢) Kyiv

C-1-23] 153101

112.

thJ
113,
(¥l

)

114.

7487

{

»03

118.

119.

(@) T T 9 () ARTTES BTy
APAR SR
ST (d) AT BT Vo
(c) arfreT<l
RTa—fpaa ¥ arelT JFferpTey
gdtor gar o1
Frefofeas 3 @ e I T STAdART o
arfiveft 961 faerdr 87
(a) 2 yapL—~ (b) farop gram
(c) &g AT (d) o7 ggr
"q Aol 3t g2 afadl qres fhe fardy
(a) i o1 (b) T=H A2
(c) 3 W= (d) TR faga
- R R wmiem, 1992 %7 “rarz—21" wafer
3 _
(a) 3= U P (b) TRy fRver 9
- a0 :‘q
(€) waa e 9 (d) IgTH — T
Rrgia 9
PN T 2023-24 # Fe1 TRaTT # Preff
W B A w wd a8 20
(3) =1 A (20%)  (b) I UF ol F
B TR (18%)
(c) wfeast (9%) (d) e =7 (8%)
S RPAM T gqu ) s @
FrfofaT & @ 5w a e TT?
(a) 1976 # () 1977 %
(c) 1974 % (d) 1975 %

Wmﬁm#ﬂwﬁ(ﬂeaﬁ)wwm%?

—_—

@Eﬁﬂaw (b) Bage =y

(c) B TP (d) Baa &g

BT 5 R T BT 9 931 Praen seqres 39
HIF 4G 2?

(a) SraTRfSSTar (b) @rfse

(c) B9 ;

@ age
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120. with reference to India’s G5 lo
89, which of th
e

following statement/s is/are 6 120. NG B ¢ | _
1. The logo has lotus witp, se rece? ﬂ?mﬁi‘ %—20 gdfid fae & a=nt §, fFr=fafad
Ven petals. BE A/ A 2/ E?

2. The seven petals j
of the logg represent seven Lyd® fore o @ oxgfeat aren w21

continents
. 2. 90 fore @ wa gygfed wa wedmr @
ct the
f:,f,w correct answer Using the code given :ﬂ—qma il
- A &3 M e &1 war a3 wE IR @ aad
Code - #fery — ) ™
(a) Both 1 and 2 (b) Only 1 )Ze -
) @il vy 2 (b) Fad 1

(c) Neither 1 nor 2 (d) Only 2 '

Ve ) e 141 & 2 (@) FaA 2

121. With reference to the Purana -
. s, which one r‘h 1 ¥ “ o " ,
following statements is correct? om e &h 3*'“”. ?EB et 4 fasifafraa so1 4 9 F9
. - qﬁgj 4
(1) Information about the Mauryan dsmasi‘?’ is (1) fawy S R 5 P ?l}
HEII 1 A < ] I 1k = [

found in the Vishnu Puran. o T
(2) Vayu Puran throws light on the Gupta’s I ey "

governance system. STerl 2 | .

(@) Only 1 (b) Neither 1 nor 2 (@) Bga 1 (b) A AT 15 71 2

(c) Only 2 (d) Bothland2 r- () Taad 2 (d) TT1 1 7 2
122. Which of the following Scorpene éﬁss 122. fyfoRad & 9w @@= o0 71 g9z 71

.Submarine:. was commissioned into Indian I{@uy Sad. 2023 ¥ WRAW AT § WA B T

in January, 2023? = — )

(@) INS Karanj (b) INS Vela QT TS ) =T o

(c) INS Vagir (d) INS Kalvari (©) FETATE aAfR (@) ETATHE FF
123. Which of the following statements is not true 123 ﬁﬁ%ff@g FEI H W T FAT T Fag H T4

| el 87

regarding ‘Gram Sabha’? oy
(a) It has the powers and functions at the vil@e
level, like state Legislature has at the st;a)te

(a) @ Pl IR T o &R ©® 9 TFR
F O v FeRnfET @ Teg ¥ W g

level. () 4
(b) |ts powers are determined by the Central (b) geat wfdral kil o @< TR §
Government. gIRT BIal %léq " 5 o .
() It is a Village Assembly consisting of all (c) g8 THh - o 2 e T P
registered voters in the area of Panchayat. a5 o gl lﬁﬁ?ﬁﬁ FaeTan |fEfed 81d 2 |
(d) (a) and (c) both R (d) (a) T (c) ST g N
24. How many railways stations have been ident@d 124. gy, 2023 TP IR Yo« H HFA WG ITIT
for modernization under “Amrit Bharat Stdﬁpn U’NF-IT P dgd sngﬁﬂﬂ?ﬁm? @ o fbaq ved
Scheme” in Uttar Pradesh as on February, 20237 WA DI Ere-'iﬂ‘—rjriﬁ}. o
(a) 123 K57 )
(a) 123 (b) 57 3
() 82 (d) 149 (c) 82 (d) 149
: 25. 5 peadl 2023 F, frefafad # @ fa <w A
25, : h country has declared 125. 2 ; .
Among the following, which COUIIV A © 8 1 i ¥ & o okl e @ fafewr wrsradl
to remove the British Monarchy from its - - " &
Bank Currgncy Notes on 2b“d Febn.:arv, 2023 o gf'r' I e i
(a) Australia (b) Nepa (c)m, o @ ! ”i'
(€) Sri Lanka (d) canada i<t s
| B e
1 T Pa 625 0f32
&1 23 153101 Dowmoad B IR dnyeyaias.com IO



&5 BT SEERT B —

| 126. Shfed (b) Gelad

126. example of Lotic ecosystem is - (a) qTETd ) T & e

(@) Ponds (b) Swamps (c) B Vﬁzﬂ)

i a

(€) Rivers (d) Marshy are. . 59 W Y9 BT TP Hem #h
127. Which among the following is a constituent of g!5?||:||i|lt¢]il

natural silk? (b) A3

(a) Potassium (b) Magnesium (@) W (d) FIEpIE

(¢} Nitrogen (d) Phosphorus © ngngFl — fd‘lw dra &7
128. Seaweeds are important source of - 128. il “ﬁ-’na 'f‘j?}ﬂTfﬁ ) (b) 3T @

(@) lodine (b) Argon (a]W 9 () T B

(¢) Bromine (d) Chlorine (c) arfr @ )

129. With reference to the representation of Uttar
Pradesh in Parliament, which of the following

statement/s is/are correct?
(1) Uttar Pradesh has 31 seats allotted for Rajya

Sabha.

(2) 80 members of Lok Sabha are elected from
Uttar Pradesh. ‘
Select the correct answer using the code given

below -

Code -

(@) Neither 1 nor 2 (b) Only 1

(€) Only 2 (d) Both 1 and 2

130 Which one of the following (Lake — Country) is not
correctly matched?
(@) Maracaibo -
Venezuela
(€) Michigan - United
State of America
131- Which of the following is not correctly matched?
(@) lltutmish — Father of Razia
(b) Gulbadan Begum — Daughter of Babur
(¢) Hamida Banu Begum — Wife of Allaudin Khilji
(d) Shah Turkan - Wife of litutmish
132. As per Social Progress Index, released in
December, 2022, which of the following are on
top three positions in very high social progress in
Tier-1?
(a) Pondicherry,
Lakshadweep and
Goa
(¢) Kerala, Nagaland
and Meghalaya

(b) Onega - Canada

(d) Baikal - Russia

(b) Mizoram, Himachal
Pradesh and Ladakh

(d) None of the above

129. gz o 9ew w2w & ufaffod & wHed o»

freifafiaa wo=t 4 4 &9 981 8 /87
(1) I8 [T & oAU Iew 9=9 &1 31 A1E Imafe:

g

(Z)Wa%aommﬁm?ﬁaiﬁr
B ¥ -

A Ry 10 g § w9 I gfAv -

az\?_

@7 ar 19182 (b) Haa1 1

(©) ®aer 2 (d) =T 1 927 2

130 fym=ifeifam % & @i (s —<w) e g

T8 8?

() ARTETZET — (b) T — FTE
"G

(C)ﬁﬁﬂ"ﬁ—ﬂ"ﬂaﬂ (d) 55 — =9
S 3R

131-ﬁr'=rl%rﬁqaﬁﬁm‘}:rmﬂﬁ§nﬁa‘ T8 22
(@) T — R B R
(b) T[eEeT 9T — 9Y @
&Tﬂamm-m@amaam
(d) 2 TP — Soqafiy & geh -
132. faHeR, 2022 ﬁmﬂw&-@wﬁrw' 7

PR o1 4, Frafafed & @ a4 afy 9=

TS wfy o e e gy @

(a) TSR, Fera sl (b) Fiies e
e TR 3R SRy

) B, Trmeivg sk ) S § & e

i B

[C-1-23] 153101
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133. with reference to the Deakin

: Univers;
the following statement/s €rsity, which
. S |5/3re Ch of 133, '@Iﬁ)_-{ 1 -
1. It will be the first Fore; “orrect feafaerea @ et 3, Fr=fofea s
. . e'gn Un‘ = .
Irfdna as an independent Cam;‘;irs.tv to enter if | B Al /f{ e /7 |
2. Itis being set up in Maharashtya A ?:;QEF AT g & 9ng9 ¥ 9Rg § 99
Select the correct answer using the ¢ _ aren g e Rvafieray 2
below — ode given 2. 30 wenry # wifia fhar o <Er 2
Code - A R ™ we & wEm P wd IR gea -
(a) Neither 1 nor 2 (b) Only 1 e -
(¢) Both 1 and 2 (d) Only 2 @ a1mé 2 (b) Fae 1
: (c) &1y ' :
134. Which of the following elements is not a Nob - -—--Mg— (d) T 2
gas? oble - Prsfafaa % @ @ a1 aa Taa w785 27
(a) Argon (b) Krypton (@) 3t (b) fare=

(¢) Actinium (d) Radon et _- (d) 2™

135. Who is the Author of the famous Novel “All the 135 gifeen ar@EA REHR, 2022 WA T T

Lives We Never Lived”, which received the TRig ST A 3 RS A A fae @
Sahitya Akademi Award, 2022? A, |

(@ Anuradha Roy (b) Anita Desai (a) arRMEIT 37 (b) FFFaT Z=TE

(c) Sudha Murthy (d) Shobha De (c) g ‘Iﬁ’/ (d) I 2

136. with reference to the SCO Film Festival-2023, 136. ggfiall fhew #EIWa—2023 & F=+ *,
which of the following statement/s is/are fr=fafeag sy § @ o= |1 /F 98 2/E7

correct? 1. JETE FEAT WA @ ARG B F4EA B
1 The. ?CO Film' Festival is being held during. ORI TEAaN, fren werea smateA fEm

India’s -PreSidem?y . of the Shanghai ST ET ¥

Cooperation Organisation. - 2 v, F : i e 29 @
2. SCO Film Festival will showcase the films from At R |

the SCO countries. ' : R T @ @ r—
Select the correct answer using the code given G FRD

T DY —
below - -
Code - &
(@ Neither 1nor2 () Only1 @ F A 17 & 2 Wd) e 1
(c) Both 1 and 2 (d) Only 2 - (c) a1 1 Td 2 (d) Dae 2 -
137. Prefafag 3 @ fp e, 2023 § <Eievs @

n named as the

20237 Wﬁﬁzﬁmﬁaﬂrwé?

137. Who among the following has bee

Prime Minister of New Zealand in January, ‘ |
(@) Cindy Kiro (b) carmel Sepuloni (a) ﬁ{@ ﬁ’:{-é—,i ((t;)) g—\? -ggar-ﬁ
(d) Chris Hipkins (c) ST 3rSH_—~ fRuferw

(€) Jacinda Ardern

138. Charak Samhita
chapters and sections? () 60 e AR 8 TS (b) 120 37EAT 3R 8 T

(@) 60 chapters and (b) 120 chapters and
8 sections 8 sections (c) 100 3rAT 3R 5 Ws(d) 80 HeATY AR 7 @

(¢) 100 chaptersand (d) 80 chapters and

ssections | 7sedlO® ot T

[C-1-23) 15310]

138, oxep wfeaT foa omardl ol @i # fonfora 27

is divided into how many
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; iodiversit
139. First National Centre for Marine Biodi Y

(NCMB) of India is situated at -
(@) Mumbai (b) puducherry
(¢) Bhavnagar (d) Jamnagar

140. What caused wind to deflect towards left in
Southern Hemisphere?
(a) Magnetic Field
(€) Temperature

(b) Coriolis force
(d) Pressure

141 Which type of vaccine protect against
Diphtheria?
(@) Live-attenuated (b) Viral Vector
(¢) Toxoid (d) mRNA

142. The resignation letter by a Judge of Supreme
Court is addressed to -
(@) The President (b) The Prime Minister
(¢) The Chief Justice of (d) The senior most

India Judge of Supreme
Court

143. Which of the following is an insectivorous plant?
(@) Nyctanthes (b) Nelumbo
(€) Nicotiana (d) Nepenthes

144. Which of the following is mRNA vaécine used
against Covid-19 infection?
(@) Sinovac (b) Novavax
() Moderna (d) Sputnik

145. Which of the following is known as laughing gas?

(@) Nitrous Oxide (b) Chlorofluro Carbon

(¢) Carbon Monoxide (d) Ammonia

146. When was the Census work done for first time in
India?

(@) In the year 1871 (b) In the year 1881
(©) Inthe year 1850  (d) In the year 1861

147. Which one of the following pairs (Schedule -
Subjects) is not correctly matched?

(@) Third Schedule - Forms of Oaths or
Affirmations

(b) Tenth Schedule -
disqualification on ground of defection

(c) Eight Schedule — Languages

(d) Ninth Schedule — Allocation of seats in the
Council of States

[C-1-23] 153101
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Fex Hiv A STy,

% =
(e ) T o) g |
[a,)g'?jwﬁ (d) TR §
c :
140.%mﬁmﬁmmm
R BROT B ‘s
_ (b) SRIfeTART T
(a) g & (d) gard '

(c) TIHT () .
141, farg gpR @1 Sl [SefiRal | q9ia &

(a) cirgd wefAacs (b) drgRe ddeR
(c) TR¥dIZ= (d) TH 3 UH U
142. Yyafed ATATHY @ U ?/Iiilﬁﬂgl\ BT -3

Wﬁ--
g afa @l

(b) BITHAT @)
(c) YR & ¥ (d) HaTed =Ta77g D
qraTiTe &1 TRETH =TI
Gl

143. fr=faifac & 9§ @19 0@ @tews gy 22
(a) @ (b) Hregear
(¢) fepifear (d) Fafera

144. fy=ifeiRad % | &9 1 mRNA 985 2 P
SN PIAS-19 GHIY & (a5 fHa) A7y &7
(a) R (b) Fratasw
(¢) HrS= (d) e

145. Frfoifem ¥ & fowy &t a1 e arel g @

w9 H FET T 27
13) TEEN sifeTSS @1 (b) FERITART FdT 7
(€) BT AT e (AamIe o

Edll
146-#ﬁaﬁtﬂﬁmzﬁ1aﬂﬂﬂﬂummﬁm%
7?7
(@) 99 1871 & (b) a9 1881 H
(c) Mo/ﬁ (d) 99 1861

WP I A S S g (o a9
~ Rw) Wl e 8 27 e

‘a3ma‘i’@—mumuﬁw$m{\

O Tl ST - <@ e B o W
Pt

(©) Sedl STt — sy
7 ST — < e gy g



48 Match list-1 with |jst.

149.

150,

. 0
answer using the code s, 5€ the correct
N be|

st =1 OW the lists —
List—
(Archaeological site) (Pr

(A) Nevasa et
| (1) Rajasthan

(B) Isampur (2) Tamil Nady,

(C) Didwana (3) Maharashtra

(D) Gudiyam cave - (4) Karnataka

Code -

(a) A-(4), B-(3), C-(1), D-(2)

(b) A-(3), B-(2), C-(4), D-(1)

(c) A-(3), B-(4), C-(1), D-(2)

(d) A-(3), B-(4), C-(2), D-(1)

Who composed the Golden Globe Award winning
song “Naatu Naatu”?
(a) Devi Sri Prasad (b) M.M. Keeravani
(c) S.5. Rajamouli (d) A.R. Rehman

Which one of the following (Place of the revolt of
1857 — Start of rebellion) is not correctly

matched?
(b) Jhansi— 11 May,

1857

(3) Lucknow — 4 June,

148,
-1 B 3 gfer AR @ A fag
M HE A 7 IR g -

- T - 0

(qoenfeas wre) (@ wI)
(A) Farmr 1) IR
@R (2) aftrerTg
(C) Ersarn (3) RIS
DREICR (4) FATEH
@..

(a) A-(4), B-(3), C-(1), D-(2)

(b) A-(3)| B-(2), C-(4), D-(1)

Js/;-(s) B-(4)D-{21
(d) A-(3),B-(4), , D-(1)

149. eeq Tl PR ot Aa ARG A 2

IR & — —
(a) <& Ay tb
(d) THR. TEEE

() TH.UH AT
150. m

_ Ao o1 o) W g @ 7

(1857 fagTe @1 =

(a) S — 4V (b) e — 117, 1857
1857
(c) ¥X8 — 10 ¥z, 1857 (d)mgi—fjﬁ.

1857

1857
©) Meerut - 10 May, (@ garrack — 29 March,
1857 1857
Downl
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